SplashlLearn

Halloween Multiplication

Solve the following word problems.

On halloween, Jenny bought 12 bags of candies.
Each bag contained 15 candies. How many candies
did Jenny buy in total?

A haunted house has 11 rooms, each with 15
decorations. How many decorations are there in
total?

A halloween store sells 35 costumes per day. If the
store is open for 14 days, how many costumes will
it sell?

In a halloween party, there are 26 kids and each
kid gets 15 candies. How many candies are
distributed in total?

A pumpkin farm has 42 rows of pumpkins with 32
pumpkins in each row. How many pumpkins are
there on the farm?

A halloween event had 25 games. Each game had
18 contestants. How many contestants were there
in total?

A halloween candy company produces 56 boxes of
candy every day. Each box contains 25 candies.
How many candies does the company produce
every day?

8 A neighborhood has 31 houses. Each house has 14
halloween decorations. How many decorations are
4 ) there in the neighborhood?
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